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I. Review of work -

Suppose an object moves under the influence of a force. Sketch arrows showing the relative
directions of the fgrce gng displ: m'uu when the worf done by e,mm is <e mem < - F ¥
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An object travels from point A to point B while two constant forces, F, and F,, of equal
magnitude are exerted on it

or zero?

1. Is the total work done on the object by F, positive, ne;

2. Is the total work done on the object by F, positive, negative, or zero? F
\U, 20 .
3. Is the net work done on the object positive, negative, or zero? Explain f -

Um - o Point A e

1. Is the speed of the objecl at point B greater than, less than, or equal to
the \I\ud of the object a ‘pmm 47 Explain how you can tell

*Point B

An object travels from point A to ]mm( B while two constant forces, F, and F,, of unequal
exerted on it as shown

0

magnitude

Is the total work done on the object by F; positive, negative, or zero?
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2. Is the total work done on the object by F, positive, negative, or zero

*Point B
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Is the net work done on the object positive, negative, or zero? Explain

W pe fe + {0

4. Is the speed of the ob point B greater than, less than, or equal to
the speed of the object at point A? Explain how you can tell
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